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<E#E>

NHETKEEETEFINIRXRZNI)GEAKR28) No. 1
I | B B I M E ]
EREEH (EEHY)
T A m?
(&
## BH0.08m3 m’ 440(438.66+0.00+0.00+0.00+0.00= 438.66
#4 BHO0.13m3 m°> 290(294.93+0.00+0.00+0.00+0.00= 29493
#H# BH0.28m3 m?® 780|782.02+0.00+0.00+0.00+0.00= 782.02
¥ BH0.45m3 m?>
EHRIEH (EELL)
AAB m®
#4 BH0.08m3 m°>
## BHO.13m3 m?®
¥4 BH0.28m3 m>
#4 BHO0.45m3 m?®
7350
m? 592(591.79+0.00+0.00+0.00+0.00= 591.79
ERER(MRL)
AAD m®
319.89+0.00+0.00+0.00+0.00+
#4 BH0.08m3 m® 320(0.00+0.00+0.00+0.00+0.00= 319.89
225.35+0.00+0.00+0.00+0.00+
#i BHO0.13m3 m?® 230/0.00+0.00+0.00+0.00+0.00= 22535
654.39+0.00+0.00+0.00+0.00+
#4 BHO0.28m3 m°> 650/0.00+0.00+0.00+0.00+0.00= 654.39
#4 BHO0.45m3 m?®
ETREARER (TR L)
AN m®
#H BH0.08m3 m?® 80|75.47+0.00+0.00+0.00+0.00= 75.47
## BHO.13m3 m° 40(43.96+0.00+0.00+0.00+0.00= 43.96
#4 BHO0.28m3 m?® 90/90.60+0.00+0.00+0.00+0.00= 90.60
|t m?® 210(75.47+43.96+90.60= 210.03
ERERER(HAXRBL)
AAD m*
¥ BH0.08m3 m°
## BHO0.13m3 m°>
## BH0.28m3 m?®
=111 m®
Btusn
AAB m*
#4 BH0.08m3 m°> 440|438.66+0.00+0.00+0.00+0.00= 438.66
#H# BHO0.13m3 m?® 290(294.93+0.00+0.00+0.00+0.00= 29493
¥ BH0.28m3 m?® 780(782.02+0.00+0.00+0.00+0.00= 782.02
=118 m? 1500(438.66+294.93+782.02= 1515.61
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NHETKEEETEFINIRXRZNI)GEAKR28) No. 2
I 7& # B B ¥ E |
ERIEE (EEFEHY)
T T AN m?
(HfTE)
## BH0.08m3 m?®
## BHO0.13m3 m°>
## BHO0.28m3 m?®
¥ BH0.45m3 m?>
EIRIEHI (EELL)
AAB m®
## BH0.08m3 m?® 20|19.343+0.000+0.000+0.000+0.000= 19.343
## BHO.13m3 m?®
#H# BH0.28m3 m® 716.671+0.000+0.000+0.000+0.000= 6.671
#4 BHO0.45m3 m?®
KL
m? 26/25.92+0.00+0.00+0.00+0.00= 25.92
ERER(BLEL)
AAD m?
¥4 BH0.08m3 m>
#4 BHO.13m3 m?®
¥ BH0.28m3 m°>
#4 BHO0.45m3 m?®
ERER(HRT)
AN m®
#H BH0.08m3 m?> 10(10.401+0.000+0.000+0.000+0.000= 10.401
¥ BHO0.13m3 m°
# BH0.28m3 m°> 4|3.776+0.000+0.000+0.000+0.000= 3.776
#H BH0.45m3 m?®
ERER (HAXB L)
AAD m?>
## BH0.08m3 m° 6/5.606+0.000+0.000+0.000+0.000= 5.606
## BHO0.13m3 m°>
¥4 BH0.28m3 m’ 2 |2.074+0.000+0.000+0.000+0.000= 2.074
# BH0.45m3 m?3
Btune
AAB m*
##H BH0.08m3 m°> 20/19.343+0.000+0.000+0.000+0.000= 19.343
## BHO.13m3 m?®
¥ BH0.28m3 m?® 716.671+0.000+0.000+0.000+0.000= 6.671
#4# BH0.45m3 m?
&t m°> 30(19.343+0.000+6.671+0.000+0.000= 26.014
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NHTKEFEETEFIRIRXZNDIGEAKR2H) No. 3
T 2 1 B B i1 ¥} E i
T R I LRBER m 682(682.20+0.00+0.00+0.00+0.00= 682.20
(&)
BEgT-7 m 667/667.00+0.00+0.00+0.00+0.00= 667.00
PRP ¢ 150mm
BRER m 682(682.20+0.00+0.00+0.00+0.00= 682.20
IRERIER m 669]669.15+0.00+0.00+0.00-0.26= 668.89
TKEAZBEBI—H— & 1
JITRUK (HE)
PRP® 150mm 5° A_JF ol
PRP @ 150mm 10° RUK #H
PRP @ 150mm 22 1/2° RUK ol
SR E L=0.26m/{A
DIEXEBE#F ¢ 150mm | 1
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<E#E>

NHTKEFEETEFIRIRXZNDIGEAKR2H) No. 4
T ¥ 1 B B i1 ¥ E i
WM ET HR{FEVU @ 100mm T 15(15+0+0+0+0= 15
L, &R 21+0+0+0+0
FZ2EE ¢ 100mm, L=4.0m X 24| +L,5f +3+0+0+0+0= 24
L, &R 0+0+0+0+0
K245 % ¢ 100mm, LO.8m p. 12| +L,&p +12+0+0+0+0= 12
60° XE ARUBA7
PRP ¢ 150mm X 100mm & 15(15+0+0+0+0= 15
30° HHE & 100mm & 15| EICEL 15
B447
75° BZEHE ¢ 100mm B 15[15+0+0+0+0= 15
1EKE+vvF @ 100mm & 15| BT I EERICEL 15
BT EE R B 15| AT EERTICREIL 15
HETr—7 m 50(49.83+0.00+0.00+0.00+0.00= 49.83
T ES47
A447° HFR
B447° B 15|15+0+0+0+0= 15
C447° (AFLER)| &Fr
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<E#E>

NETKEEETEGFIIRZDNIGEA28) No. 5
I = i B B 1 ¥} E i =
iRt
+ 8 I BHEIZE 20mLLF AH m
64.30+0.00+0.00+0.00+0.00+
HREIZE 2.0mLL T BH0.08m3 m 104]39.20+0.00+0.00+0.00+0.00+0.00= 103.50
PREIR 2.0mELF BH0.13m3 m
FREIZE 2.0mLL T BH0.28m3 m
JREIZR 2.0mELF BH0.45m3 m
xRt
PREIZE 25mElF AD m
168.50+0.00+0.00+0.00+0.00+
JREIE 25mLL T BH0.08m3 m 169]0.00+0.00+0.00+0.00+0.00+0.00= 168.50
93.00+0.00+0.00+0.00+0.00+
FREIZE 2.5mLL T BHO0.13m3 m 131/38.00+0.00+0.00+0.00+0.00+0.00= 131.00
PBEIR 2.5mELF BHO0.28m3 m
PEEIZE 25mELF BH0.45m3 m
iRt &
PREIE 3.0mLL T AD m
PBHEIE 3.0mEL T BHO0.08m3 m
18.20+0.00+0.00+0.00+0.00+
JREIE 3.0mLL T BHO0.13m3 m 18/0.00+0.00+0.00+0.00+0.00= 18.20
53.50+0.00+0.00+0.00+0.00+
PEHEIE 3.0mEL T BHO0.28m3 m 91(37.20+0.00+0.00+0.00+0.00+0.00= 90.70
PEEIZE 3.0mELF BH0.45m3 m
xRt
JEHIZE 3.5mETF AD m
JREIZR 3.5mELF BHO0.08m3 m
PEEIZE 3.5mELF BHO0.13m3 m
170.30+0.00+0.00+0.00+0.00+
JREIE 3.5mLl T BHO0.28m3 m 170]0.00+0.00+0.00+0.00+0.00+0.00= 170.30
JBHIZR 3.8mLELF BH0.45m3 m
iRt E
PREIZE 3.8mLLT AD m
JEHIR 3.8mELF BH0.08m3 m
JREIZE 3.8mELF BHO0.13m3 m
#EHIZR 3.8mELF BH0.28m3 m
PEHEIZE 3.8mELF BH0.45m3 m
¥ B T 168 m 104]103.50+0.00+0.00+0.00+0.00+0.00= 103.50
28% m 579|578.70+0.00+0.00+0.00+0.00+0.00= 578.70
3E¥ m




SEIMERHE ‘ <E#>
NHETKEFEEIEZGFRINIXZMNI)GEKR2H) No. 1
T = | B B {51 B ]
24.70+0.00+0.00+0.00+0.00
VBT As t=15cm m 710(+689.60+0.00+0.00+0.00+0.00= 714.30
42.75+0.00+0.00+0.00+0.00
As 15cm<t=30cm m 720(+674.80+0.00+0.00+0.00+0.00= 717.55
Co t=15cm m
As t=10cm
SHERERT AN m?2
7.30+0.00+0.00+0.00+0.00
¥t BHO.13m3 +192.20+0.00+0.00+0.00+0.00
(BH0.08m3 %) +0.00+0.00+0.00+0.00+0.00
m? 283(83.70+0.00+0.00+0.00+0.00= 283.20
0.00+0.00+0.00+0.00+0.00
¥4 BHO0.28m3 m? 27(+26.90+0.00+0.00+0.00+0.00= 26.90
¥# BH0.45m3 m?
As 10cm<t=15cm
A m?
#4 BHO0.13m3
(BH0.08m3%)
m2
#H# BH0.28m3 m?
## BHO0.45m3 m?
As 15cm<t=35cm
A m?
6.50+0.00+0.00+0.00+0.00
#H# BHO0.13m3 +38.90+0.00+0.00+0.00+0.00
(BH0.08m3%) +0.00+0.00+0.00+0.00+0.00
m? 96 [+50.60+0.00+0.00+0.00+0.00= 96.00
6.40+0.00+0.00+0.00+0.00
## BH0.28m3 m? 254|+247.30+0.00+0.00+0.00+0.00= 253.70
¥ BHO0.45m3 m?
Co t=35cm
A m?
¥4 BHO0.13m3
(BH0.08m3 %)
m2
#4 BH0.28m3 m?
#H BH0.45m3 m?




HEIHSRIHE <EE>
NETIKEEFEESETEF FRIRZDI)GEA2R) No. 2
I = i B B fr = ]
T B4 El - T A E
BEHNET AR m°>
0.37+0.00+0.00+0.00+0.00
¥ BH0.08m3 m® 9|+8.50+0.00+0.00+0.00+0.00= 8.87
0.00+0.00+0.00+0.00+0.00
i BHO0.13m3 m* 4|+4.20+0.00+0.00+0.00+0.00= 4.20
0.00+0.00+0.00+0.00+0.00
¥ BH0.28m3 m® 1[+1.30+0.00+0.00+0.00+0.00= 1.30
i BHO0.45m3 m®
TR R HI - T A E i
AR m®
0.00+0.00+0.00+0.00+0.00
i BH0.08m3 m® 6/+6.30+0.00+0.00+0.00+0.00= 6.30
0.00+0.00+0.00+0.00+0.00
¥ BH0.13m3 m® 8|+8.10+0.00+0.00+0.00+0.00= 8.10
0.00+0.00+0.00+0.00+0.00
i BHO0.28m3 m® 40/+39.70+0.00+0.00+0.00+0.00= 39.70
¥4 BH0.45m3 m®
i (— %) 7.00+0.00+0.00+0.00+0.00
&% RET t=3cm m? 251|+243.80+0.00+0.00+0.00+0.00= 250.80
REHE 0.00+0.00+0.00+0.00+0.00
t=5cm m? 25|+25.00+0.00+0.00+0.00+0.00= 25.00
RESHE 0.30+0.00+0.00+0.00+0.00
t=3cm m? 59|+59.00+0.00+0.00+0.00+0.00= 59.30
ArE(1 - 28%) 0.00+0.00+0.00+0.00+0.00
t=5cm m? 312|+311.80+0.00+0.00+0.00+0.00= 311.80
HHE(1-24R)
t=3cm m?
E(—%) 7.00+0.00+0.00+0.00+0.00
&% MBI t=22cm m? 251(+243.80+0.00+0.00+0.00+0.00= 250.80
BEEHE 0.00+0.00+0.00+0.00+0.00
t=21cm m? 25|+25.00+0.00+0.00+0.00+0.00= 25.00
REHE 0.30+0.00+0.00+0.00+0.00
t=10cm m? 59|+59.00+0.00+0.00+0.00+0.00= 59.30
mE(1 - 2§%) 0.00+0.00+0.00+0.00+0.00
t=21cm m? 312/+311.80+0.00+0.00+0.00+0.00= 311.80
(1 -28R%)
t=16cm m?
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AHTRKEEETEFNIXZDIEER2H) No. 1
T & H =] H fu ¥ E H =
Ei#R (8)
RERHBE T W=15¢cm m 1 1.15
FikiR (B)
W=30cm m 4 4.40
FiE#R (B)
W=45cm m 13 13.05
EiR (37)
W=20cm m 1 1.10
IR (B)
W=45cm m
TFXZER (B)
W=15cmit & m
+FXER (B)
W=15cmift & m 9 9.00
XF (kFEHh-B)
W=15cmit & m 19 18.70
XF (30-%&)
W=15cmit & m
s (O)
W=15cmift & m
a5 (V)
W=15cmift & m
ACS (5HD) m 17 17.35
XF iS5 ) m 45
BT E#ERA(RC-40) t=100 m?2
18N/mm2
A= I(EE) m3

R EEET m2
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2 W 5] % Hi & E ] =
= - 2B [ZB ¢600, T-14 8 4| $RER LR
WiR)v7 24
Z%, ¢$600, T-25 8 8| ¥n¥ERh.LfR
BT [45 h = 20~45mm & 7
69 h = 46~69mm & 5
BREYVY |5 ¢ 600 X 50 mm & 4
10 @ 600 %100 mm {& 4
15 @ 600 %150 mm {& 4
# B JOvs [30  ¢600x ¢ 900 x H300 & 5
45 ¢ 600X ¢ 900 X H450 {E 6
60 ¢ 600 X ¢ 900 X H600 & 1
E & Jnyy 30 $900 x H 300 & 1
60 $900 x H 600 {& 1
90 $900 x H 900 {& 2
120 $900 x H1200 &
150 $900 x H1500 {E
B & Javy |60 $900 x H 600 {&
90 $900 x H 900 {&
120 $900 x H1200 {E 1
150 $ 900 x H1500 & 4
180 $900 X H1800 & 7
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E R 7095 | ¢1100 x H 130 {& 12
Bl A | PRP¢350mmfd 07l
PRP ¢ 250mmfd b3l
PRP ¢ 200mmJH B A
r—U 7Y 2m
PRP ¢ 150mmFH Err 17| RRIBHIFL 28/
VU ¢ 100mmF 5070
T —IL#tF | PRP ¢ 250mmfH EAr
PRP ¢ 200mmJH & AR
PRP ¢ 150mmfH AR 29
VU ¢ 100mmFf 07
E # I |1:A4YN\—r+BEER EAr 12
2: REEROH B R
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Wk=VTRY) [ IR ~30m B AR 10
#ft T
Yik—LiE 3.0~ 40m BEERr 2




Vool

EWEII BEHES

£ 1-1 SEEE NETKEEEIZGFRIRZDIEKR2E)<EE> — TE FHRIEFEH2EREH
X IR shae EEERI | & BRER it
- ALES o .| o | 2P [EEE] B R EEEE | one| @ BRER n 5 W =
= oL oL - = e T | 18 (%) (%) B miE = ! " 18 +8 +8 & XIERLMAFKET
H AFLRER | &= | = o owetion | Vv R P V=V, 5 DZE.
L H, H, (H1+:|2) /5 t, H34_t1 w 1 . 4 2 . 4 W, A=W, *L t, tg e :z_t: W,=W V, V, =Vl (gyszl);t 8 Vi X[&V,-V,+0.9
T8 LAl m m m m m m m m® m® m m? m m m m m>/m m° m°
B 134-1-M2 |3 135-MT
B135 15 $HI15 45200 | 1.634| 1.798 1.716] 12§ 0.08 0.05| 1.666 0.85 64.01 0.78 35.26 0.25| 0.356 BT 1.110 0.85| 0.944 4267 6401 | 3 @FEE?
#135-M1 B 135-M1+19.10
" 15 B = 19100 | 1.778 | 1.771 1.775| 128 0.08 005| 1.725 0.85 28.01 0.78 14.90 0.25| 0.356 wBEL 1.169 0.85 | 0.994 18.99 2801 | XBFEE2
B E163-1-M1|E161-M1
H161 15 15 69.000 | 3.125| 3.228 3177| % 0.28 0.16 | 3.017 1.05 218.58 0.98 67.62 0.26 | 0.356 wRT 2.561 1.05| 2.689 185.54 21858 | IEFHES
BH161-M1 BH161-M2
" 15 #1585 53.300 | 3.208| 3.168 3.188| 122 0.28 0.16 | 3.028 1.05 169.46 0.98 52.23 0.26 | 0.356 wEL 2572 1.05| 2.701 143.96 169.46 | K @iEES
BE161-M2 B 156-M1
156 15 15 48000 | 3.148 | 3.074 3.111 2 0.28 0.16 | 2.951 1.05 148.73 0.98 47.04 0.26 | 0.356 HEL 2.495 1.05| 2620 125.76 148.73 | A @EEES
B 156-M1 B 156-M2
" 15 #1585 37.200 | 3.054| 2.712 2883 122 0.28 0.16 | 2.723 1.05 106.36 0.98 36.46 0.26 | 0.356 wEL 2.267 1.05| 2.380 88.54 106.36 | K @iEE3
B 156-M2 B 154-M1
154 15 15 27.900 | 2.692 | 2548 2.620 B 0.28 0.16 | 2.460 1.05 72.07 0.98 27.34 0.26 | 0.356 WwRT 2.004 1.05| 2.104 58.70 7207 | FKBFEE3
B 154-M1 BE151-M1
E151 15 15 18.200 | 2528 | 2.483 2506| *T%73 0.13 0.16 | 2.346 0.90 38.43 0.83 15.11 0.26 | 0.356 HEL 1.890 0.90 | 1.701 30.96 3843 | BEFEES
BE151-M1 B 148-M1
148 15 15 38.000 | 2.463 | 2.289 2.376| T8 0.13 016 | 2216 0.90 75.79 0.83 31.54 0.26 | 0.356 BBt 1.760 090 | 1.584 60.19 75.79 | FEBEE3
H148-M1 B 148-M2
" 15 15 27700 | 2.269| 2.156 2213 128 0.08 0.16 | 2.053 0.85 48.34 0.78 21.61 0.26 | 0.356 HEL 1.597 0.85| 1.357 37.59 4834 | ZBEIFES
H161-M2 B 160-M1
160 15 15 93.000 | 2.448 | 1.969 2209 +88 0.13 0.05| 2.159 0.90 180.71 0.83 77.19 0.25| 0.356 BBt 1.603 0.90 | 1.443 134.20 180.71 REEE2
B 160-M1 B 160-M1+39.20
" 115 Al = 39.200 | 1.949 | 1.771 1.860| T &% 0.08 0.05| 1.810 0.85 60.31 0.78 30.58 0.25| 0.356 = tan 1.254 0.85| 1.066 41.79 60.31 RBEFFEE2
B 156-M2 H156-M2+25.60
155 S5 B = 25600 | 2.609 | 2.462 2536| 122 0.28 0.05| 2.486 1.05 66.82 0.98 25.09 0.25| 0.356 wEL 1.930 1.05| 2.027 51.89 66.82 | IBFE?2
B 148-M2 B 146-M1
146 15 15 8.000| 2117 | 2.083 2.100| +22 0.08 0.16 | 1.940 0.85 13.19 0.78 6.24 0.26 | 0.356 HEL 1.484 0.85| 1.261 10.09 1319 | I@EEES
B 146-M1 B 146-M1+53.30
" S5 Al | 53.300 | 2.063| 2.093 2078| 122 0.08 0.05| 2028 0.85 91.88 0.78 4157 0.25| 0.356 wEL 1.472 0.85| 1.251 66.68 91.88 | XBFE2
BE151-M1 B 149-M1
B149 15 15 10.100 | 2.118 | 2.038 2078| %2 0.08 016 | 1.918 0.85 16.47 0.78 7.88 0.26 | 0.356 HEL 1.462 0.85| 1.243 12.55 16.47 | 3@EHES
B 149-M1 #149-M1+69.40
" 15 Al | 69.400 | 2.018| 1.990 2004| 122 0.08 003 | 1.974 0.85 116.45 0.78 54.13 0.13 | 0.356 wBEL 1518 0.85 | 1.290 89.53 116.45 | K @iEES
AN AR
BH = BH
0.08 438.66 HIERIME 0.08 319.89 438.66
BH BH
= 0.13 294.93 BRTE 0.13 225.35 294.93
HEFERI M E BH RSt BH
0.28 782.02 T - ®BEL 0.28 654.39 782.02
BH BH
0.45 0.45
i 682.200 g 1515.61 591.79 g 1199.63 1515.61
AR AA
BH = BH
0.08 438.66 RIEAINE 0.08 319.89 438.66
BH BH
= 0.13 294.93 BRtTE 0.13 225.35 294.93
HIERIME BH LER HAET BH
0.28 782.02 T -HBEL 0.28 654.39 782.02
BH BH
0.45 0.45
&t 682.200 K 1515.61 591.79 K 1199.63 1515.61




EWmE-EERT KEHEE
% 21 BHEE AHTKESEIEGRIKZOICEAKZA)<EZ> — Tl FRLFEH2SREL

EmET 1§ ERIER (BREY)
X e EHRE AL |2 o = _
o il = T ey U VANES = = H P + BT* o
Py #?L%'g 6 |7:J11:|: JZ:’\/F FZEE B 2% s 7|' P P o E e %
o GRS BE) e = =R oy (EE ¢ 150) (RR) E R E X T = e iﬁz it i &
% . E ERE L=4.00m 7 R ” = & = &% &
=1 AFAER L B8 =313 5  LB=1.045| | =(| -, H g %
LB ERER L, 0" LB=2.095 /4.0 Ls=L-L, L, Ls=L-L4 3 W, Vg Le=Ls V;=Vg*Lg =}
T HBREE 221/2° LB=2.160 LB/ &.
Tl LA m mm m 1& m PN m m m m? m m m’/m m m®
BEERE 134-1-M2[E 135-M1
135 3115 $3r15 45200 [PRP ¢ 150mm{ 0.900 111 4430 | 1.050 4415 Fg=tan 0.08 0.356 0.78 0.284 4415 1254 | 3 @EFE?2
B 135-M1 B 135-M1+19.10
" $I15 Al = 19.100 |PRP ¢ 150mm|  0.450 47 18.65 | 0.525 18.58 HE T 0.08 0.356 0.78 0.284 18.58 528 | IEIFE?2
BEERE163-1-M1[E161-M1
H161 15 15 69.000 |PRP ¢ 150mm{  0.900 17.0 68.10 | 1.050 67.95 wBE T 0.28 0.356 0.98 0.355 67.95 2412 | ZEFHEES
B161-M1 B161-M2
" 15 I 15 53.300 |PRP ¢ 150mn{ 0.900 13.1 5240 | 1.050 52.25 WET 0.28 0.356 0.98 0.355 52.25 1855 | RBFES
H161-M2 B 156-M1
156 15 15 48.000 [PRP ¢ 150mm{ 0.900 11.8 4710 | 1.050 46.95 wET 0.28 0.356 0.98 0.355 46.95 16.67 | 3@EIFES
B 156-M1 H156-M2
" 15 $I15 37.200 |PRP ¢ 150mn{ 0.900 9.1 36.30 | 1.050 36.15 HWET 0.28 0.356 0.98 0.355 36.15 1283 | RB@FES
B 156-M2 B 154-M1
B154 15 15 27.900 |PRP ¢ 150mm{  0.900 6.8 27.00 | 1.050 26.85 wBE T 0.28 0.356 0.98 0.355 26.85 953 | 3EFEES
#154-M1 H151-M1
B 151 HaI15 15 18.200 [PRP ¢ 150mm{ 0.900 43 17.30 | 1.050 17.15 wBE T 0.13 0.356 0.83 0.301 17.15 516 | FBFEE3
BE151-M1 B 148-M1
148 15 15 38.000 [PRP ¢ 150mm{ 0.900 9.3 37.10 | 1.050 36.95 mBET 0.13 0.356 0.83 0.301 36.95 1112 | 3@EFES
B 148-MT1 B 148-M2
" HaI15 15 27.700 |PRP ¢ 150mm{  0.900 6.7 26.80 | 1.050 26.65 Fg=tan 0.08 0.356 0.78 0.284 26.65 757 | F@EFES
BH161-M2 B 160-M1
#160 15 15 93.000 |PRP ¢ 150mm{ 0.900 23.0 92.10 | 1.050 91.95 wBET 0.13 0.356 0.83 0.301 91.95 2768 | 3EHEE?2
B 160-M1 B 160-M1+39.20
" 15 B = 39.200 |PRP ¢ 150mm{ 0.450 9.7 38.75| 0.525 38.68 wET 0.08 0.356 0.78 0.284 38.68 1099 | I @EEE2
B 156-M2 B 156-M2+25.60
B 155 15 Al = 25.600 |PRP ¢ 150mm| 0.450 6.3 25.15| 0.525 25.08 wBE T 0.28 0.356 0.98 0.355 25.08 890 | FHEFEE?2
B 148-M2 B 146-M1
H146 15 15 8.000 |PRP ¢ 150mm{  0.900 18 7.10 | 1.050 6.95 wBE T 0.08 0.356 0.78 0.284 6.95 1.97 | 3R@EFES
B 146-M1 #146-M1+53.30
" 15 Al = 53.300 |PRP ¢ 150mm{ 0.450 13.2 5285 | 0.525 52.78 wBET 0.08 0.356 0.78 0.284 52.78 1499 | IR@EHE?2
BE151-M1 B 149-M1
149 15 3115 10.100 |PRP ¢ 150mm|  0.900 2.3 920 | 1.050 9.05 HET 0.08 0.356 0.78 0.284 9.05 257 | FBFEE3
#149-M1 B 149-M1+69.40
" HaI15 Al = 69.400 |PRP ¢ 150mm{  0.450 17.2 68.95 | 0525 68.88 MRt 0.08 0.356 0.78 0.284 68.88 19.56 | 3@EFES
PRP ¢ 150mm 682.200 167.4 669.150 AR
s BH 75.47
BRI & 0.08 265.72
BH 43.96
Higt= 0.13 146.05
LB HMEL BH 90.60
TE - #fXEL| 0.28 255.23
BH
0.45
210.03
£ £t 682.200 167.4 669.150 667.00 S 667.00
PRP ¢ 150mm 682.200 167.4 669.150 AR
= BH 75.47
AR M E 0.08 265.72
BH 43.96
Hitt= 0.13 146.05
TtE - mBEL BH 90.60
TE - #MfEL| 028 255.23
BH
0.45
210.03
&5t 5 682.200 167.4 669.150 667.00 =t 667.00
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KRB - CGAHBEZ LB
X EHIE = KREA 53R T BELEXRART BiA-5l3RT
55 ALBES i = 2 ilﬁ‘; (LB R E P X REH T IEE1R) H’EEHE&E%%& (INRIVE A ABTE) %
A GARES) i Al ﬁﬁ L=2.0m L=2.5m L=3.0m L=3.5m L=4.0m Zx=120cm** £ L=40m | L=45m | L=5.0m &
- i = 1E% 1E% 2E% 2F% 2E% 2F% 2E% 2E% 3% 15 2F% 2E% 3% BHO0.45 = i
& AFLEER T | rm | Y B OB i
= P i H i& 1.50 1.80 2.00 2.30 2.50 2.80 3.00 3.30 3.50 1.50 2.00 2.50 3.50 3.80 4.00 450 =
L H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= B
1.50 1.80 2.00 2.30 2.50 2.80 3.00 3.30 3.50 3.80 2.00 2.50 3.50 3.80 4.00 450 5.00
T8l LRAA m m m m m m m m m m m m m m m m m m m m m m
BEERE 134-1-M2 [ 135-MT1
H135 15 $HI15 45200 | 1.634| 1.798 1.716] 085| 0.08 45.20 4520 REEEE?
#135-M1 B 135-M1+19.10
1" 15 Bl = 19.100 | 1.778 | 1.771 1775 085| 0.08 19.10 19.10 REEE?
B E163-1-M1|E161-M1
H161 ST 5 15 69.000 | 3.125| 3.228 3.177 1.05| 0.28 69.00 69.00 XBEEES
BH161-M1 H161-M2
" 15 15 53.300 | 3.208 | 3.168 3.188 1.05 | 0.28 53.30 53.30 RKEFEES
BE161-M2 B 156-M1
156 #1155 15 48,000 | 3.148| 3.074 3.111 1.05| 0.28 48.00 48.00 XBEEES
B 156-M1 B 156-M2
" 15 15 37.200 | 3.054| 2712 2.883 1.05 | 0.28 37.20 37.20 REFEES
E156-M2 B 154-M1
H154 {15 15 27900 | 2.692| 2548 2620 1.05| 0.28 27.90 27.90 XBEEES
B 154-M1 BH151-M1
B151 HI1 5 HI15 18.200 | 2.528 | 2.483 2506] 090| 0.13 18.20 18.20 RBEEES
HE151-M1 B 148-M1
#148 15 3115 38.000 | 2.463| 2.289 2.376] 0.90| 0.13 38.00 38.00 REFFEES
B 148-M1 B 148-M2
" 15 15 27700 | 2.269| 2.156 2213 0.85| 0.08 27.70 27.70 RBEEES
H161-M2 B 160-M1
160 15 3115 93.000 | 2448 | 1.969 2209 090]| 0.13 93.00 93.00 RKiEFFEE2
B 160-M1 B 160-M1+39.20
" 15 Al & 39.200 | 1.949 | 1.771 1.860| 0.85| 0.08 39.20 39.20 XBEEE2
B 156-M2 H156-M2+25.60
155 15 Bl = 25.600 | 2.609 | 2.462 2.536] 1.05| 0.28 25.60 25.60 ZEFEE2
B 148-M2 B 146-M1
146 15 #3115 8.000| 2.117| 2.083 2.100| 0.85| 0.08 8.00 8.00 XBEEES
B 146-M1 B 146-M1+53.30
" #3115 b 53.300 | 2.063| 2093 2078 0.85| 0.08 53.30 53.30 XEFFEE2
E151-M1 B 149-M1
149 115 #3115 10100 | 2.118 | 2.038 2078| 0.85| 0.08 10.10 10.10 XBEEES
B 149-M1 #149-M1+69.40
" HiI15 Al | 69.400 | 2.018| 1.990 2.004| 0.85| 0.08 69.40 69.40 REEES
AA
BH
0.08 64.30 39.20 168.50 103.50 168.50
BH
R A o;H 3 93.00 38.00 18.20 131.00 18.20
0.28 53.50 37.20 170.30 261.00
BH
0.45
H 682.200 = 103.50 299.50 108.90 170.30 103.50 578.70
AA
BH
0.08 64.30 39.20 168.50 103.50 168.50
BH
R R A oE.:H 3 93.00 38.00 18.20 131.00 18.20
0.28 53.50 37.20 170.30 261.00
BH
0.45
&5t 682.200 5 103.50 299.50 108.90 170.30 103.50 578.70
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o REFET X2 _ REEET BT _ B4t AR
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- 15ecm<t 10cm<t| 15cm<t ~ - - ~ - - = E |
t=<15cm| =30cm |t=15cm|t=10cm| =15cm | =35cm | t=35cm 0.03 0.05 0.03 0.05 0.03 0.22 0.21 0.10 0.21 0.16 i i’
T4 LAl m m m m m m m m? m> m> m? m m m> m> m> m> m? m> m? m> m? m? m° m°
BEER T 134-1-M2[E 135-MT1
135 $3115 15 45.200 0.85| 3.280 | 0.08 hE(—f%) 0.05 90.40 38.4 0.03 0.22 38.4 38.4 1.9
H135-M1 B135-M1+19.10
" 115 Al = 19.100 0.85| 3.280 | 0.08 hiE(—A% 0.05 38.20 16.2 0.03 0.22 16.2 16.2 0.8
BEERE163-1-M1 B 161-M1
H161 15 15 69.000 1.05| 3.580 | 0.28 mE - 25R) 0.16 138.00 72.5 0.05 0.21 72.5 72.5 11.6
H161-M1 H161-M2
" 15 15 53.300 1.05 | 4650 | 0.28 E - 25R) 0.16 106.60 56.0 0.05 0.21 56.0 56.0 9.0
H161-M2 B 156-M1
156 115 115 48.000 1.05 | 3.450 | 0.28 a1 - 2§Rk) 0.16 96.00 50.4 0.05 0.21 50.4 50.4 8.1
B 156-M1 #156-M2
" 15 115 37.200 1.05 | 4820 | 0.28 mE - 28R) 0.16 74.40 39.1 0.05 0.21 39.1 39.1 6.3
B 156-M2 B 154-M1
154 15 15 27.900 1.05| 5.960 | 0.28 mE - 25R) 0.16 55.80 29.3 0.05 0.21 29.3 29.3 47
B 154-M1 B 151-M1
151 $3115 15 18.200 0.90 | 5960 | 0.13 EEEE 0.16 36.40 16.4 0.05 0.21 16.4 16.4 2.6
H151-M1 B 148-M1
#3115 #3115 38.000 0.90 | 4900 | 0.13 maE(1-24R) 0.16 76.00 34.2 0.05 0.21 55
B148-M1 B148-M2
15 #1155 27.700 0.85 | 4100 | 0.08 mE - 25R) 0.16 55.40 235 0.05 0.21 3.8
H161-M2 B 160-M1
185 15 93.000 0.90 | 4010 | 0.13 HE(—A% 0.05 83.7 0.03 0.22 83.7 4.2
H160-M1 B 160-M1+39.20
115 Al 39.200 0.85| 2.820 | 0.08 B (—A%) 0.05 33.3 0.03 0.22 333 1.7
B 156-M2 B 156-M2+25.60
15 Al = 25.600 1.05 | 3.650 | 0.28 HiE(—A%) 0.05 26.9 0.03 0.22 26.9 1.3
B 148-M2 B 146-M1
15 15 8.000 0.85 | 4720 | 0.08 mE - 25R) 0.16 16.00 6.8 0.05 0.21 1.1
B 146-M1 B 146-M1+53.30
$A3115 A = 53.300 0.85| 4720 | 0.08 HE(—A%) 0.05 453 0.03 0.22 453 2.3
B151-M1 B 149-M1
15 15 10.100 0.85 | 2.960 | 0.08 B E 0.16 20.20 8.6 0.05 0.21 8.6 8.6 14
B 149-M1 B 149-M1+69.40
15 Al = 69.400 0.85 | 2.960 | 0.08 BESHE 0.03 59.0 0.03 0.10 59.0 59.0 1.8
AR
BH
0.08 192.2 38.9 133.2 8.6 59.0 30.3 133.2 8.6 59.0 30.3 8.5 6.3
BH
R T 2 oéL3 83.7 50.6 83.7 16.4 34.2 83.7 16.4 34.2 42 8.1
0.28 26.9 247.3 26.9 247.3 26.9 247.3 1.3 39.7
BH
0.45
g 682.200 g 689.60 | 674.80 302.8 336.8 243.8 25.0 59.0 | 311.8 243.8 25.0 59.0 [ 311.8 14.0 54.1
AN
BH
0.08 192.2 38.9 133.2 8.6 59.0 30.3 133.2 8.6 59.0 30.3 8.5 6.3
BH
R R OB1H3 83.7 50.6 83.7 16.4 34.2 83.7 16.4 34.2 4.2 8.1
0.28 26.9 247.3 26.9 247.3 26.9 247.3 1.3 39.7
BH
0.45
&t 682.200 B 689.60 | 674.80 302.8 336.8 243.8 25.0 590 | 311.8 243.8 25.0 590 | 311.8 14.0 54.1
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" = o g |7 ft = x | BfEE | & | x% &# R sopene | B HEARIER B %
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7 ARES T | £ | e |~| & | Aur By oy | B | @m | @ | mEg | B | <12 | ER | & (Ew = 7| 2B | 8 DOERLHARELOD
= # | W £ at i® i B | #R | Ve T Tamac] Y= | vy .
i H W i L KELH|AELH| AFLESR '%_IJ' %]I_IJ' H W W,= L= L= t H6—t W, X Hg | Wy XL, t, ts o :_ts Hy X Ly 9= V7 Vy=V;-Vg=+0.9
‘ B 5 |smski| 15melE " R R 5 U lwxi/2 | LW, | Lxn 0 i, 27| xw,
T4 LAl BH m ~ m vasil vasil Vil il m m m m m_|[m/#Fi| m m m m® m? m m m m° m’
B135 |BEERE134-1-M2|E135-M1 1.460| 0.85
0.08 £ 144 3 3 1.014 1.214 1.114| 0600 | 0425| 1.015| 3.045 005| 1.064| 1.944 1.83 0.25 0314 | HREL 0550 | 1.005| 1.944
7 E135-M1 E135-M1+19.10| 0.08 1519 085 |H| 228 2 2 1.014 1.214 1.114| 0600 | 0425| 1.855| 3.710 005| 1.064| 2.368 2.23 0.25 0314 | HEZT 0.550 | 1.224 | 2.368
0.28 | 208 1 1 1.014 1.214 1114 0600 | 0525 1555 1.555 0.16 | 0954 | 0.890 0.93 0.26 0314 | HBEZL 0.540 | 0.504 | 0.890
B161 |BEERE163-1-M1|E161-M1 2921 1.05
7 E161-M1 E161-M2 2.932| 1.05
0.28 | 569 1 1 1.014 1.214 1114 0600 0525| 5165 5.165 0.16 | 0.954| 2.956 3.10 0.26 0314 | HBEL 0540 | 1.673 | 2.956
B156 |HE161-M2 B 156-M1 2.855| 1.05
0.28 £ | 546 1 1 1.014 1.214 1.114| 0600| 0525| 4935| 4935 0.16 | 0954 | 2.825 2.96 0.26 0314 | HBEL 0540 | 1599 | 2.825
7 E156-M1 E156-M2 2.627| 1.05
154 |E156-M2 B 154-M1 2.364| 1.05
E151 |E154-M1 E151-M1 2.250| 0.90
B148 |E151-M1 B 148-M1 2.120| 0.90
0.08 | 495 1 1 1.014 1.214 1.114| 0600| 0425| 4525| 4525 0.16 | 0.954| 2590 2.72 0.26 0314 | HBEL 0.540 | 1.466 | 2.590
7 E148-M1 E148-M2 0.08 1.957| 085 |H| 7.71 1 1 1.014 1.214 1114 0600 | 0425| 7.285| 7.285 0.16 | 0954 | 4.170 4.37 0.26 0314 | BT 0.540 | 2.360| 4.170
160 |E161-M2 B 160-M1 1.953| 0.90
0.08 £ 1.00 1 1 1.014 1.214 1114 0600| 0425| 0575| 0575 005| 1.064| 0.367 0.35 0.25 0314 | HBEL 0550 | 0.190 | 0.367
1" B 160-M1 B 160-M1+39.20 1.604| 0.85
BEH155 |H156-M2 E156-M2+25.60 2.280| 1.05
146 |E148-M2 B 146-M1 1.844| 0.85
0.08 £ | 508 2 2 1.014 1.214 1.114| 0600 | 0425| 4655| 9310 005| 1.064| 5.944 5.59 0.25 0314 | HRL 0.550 | 3.072 | 5.944
7 E146-M1 E146-M1+53.30| 0.08 1.822| 085 |&H| 240 1 1 1.014 1.214 1.114| 0600| 0425| 1.975| 1.975 005| 1.064| 1.261 1.19 0.25 0314 | HEL 0.550 | 0.652 | 1.261
149 |[E151-M1 H149-M1 1.822| 0.85
0.08 £| 150 1 1 1.014 1.214 1114 0600| 0425| 1.075| 1.075 003 | 1.084| 0.699 0.65 0.13 0314 | HBEL 0.670 | 0.432| 0.699
7 E149-M1 E1149-M1+69.40 1.748| 0.85
AN A7
BH - BH
I —_—
0.08 19.343 BRI 0.08 | 10.401 | 19.343
BH BH
e = 0.13 BRE+=E 0.13
I —N
miEsIRE BH FEE HAES BH
0.28 6.671 T BT 0.28 3.776 | 6.671
BH BH
0.45 0.45
i 15 15 B 26.014 | 25.92 £ 14177 | 26.014
AA A7
BH BH
%=
0.08 19.343 AEAI AR 0.08 | 10.401 | 19.343
BH BH
e 0.13 BRE+=E 0.13
%=
IR = 5H Py SH
0.28 6.671 TR BT 0.28 3.776 | 6.671
BH BH
0.45 0.45
85t 15 15 5 26.014 | 25.92 it 14177 | 26.014
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1 Al = A . . . B = =
@ ARES 2o~ ' | Aaur | Bur | cur | & - T (2547) (B%47) & % B = | = E £ i
= w |L| H e Ly L, Ly= 5 FREE | FREE | AREE | AREE | H & # 5
Y [T M RS | AL ARLER|  F B447° (L1+L2) (0.8m/AK) | (4.0m/&) | (0.8m/&K) | (4.0m/%K) . (ABBRAT) Vs Le=Ls V7=Vetlg
& 1. 5mak i | 1.5m b AELHY-10m| X 4R b
T4 LAl m |~ m vabil vasil paiil Aol mm m/4 Bt m/4 Bt m m x X X X - & m’ m®/m m m?
B135 |BEEREE134-1-M2|E135-M1 1.460
& | 1.440 3 3 VU ¢ 100 1.440 0.137 4.731 4.320 3 3 PRP ¢ 150mm 3| MAIKEL | 0.08 0.178 3.045 0.542
7 E135-M1 BE135-M1+19.10| 1519 & | 2.280 2 2 VU ¢ 100 2.280 0.137 4.834 4560 2 2 PRP ¢ 150mm 2| BB L | 0.08 0.178 3.710 0.660
i | 2.080 1 1 VU ¢ 100 2.080 1.539 3.619 2.080 1 1 |PRP ¢ 150mm 1| #AIXEL | 0.28 0.178 1.555 0.277
B161 |BEERE163-1-M1|E161-M1 2.921
7 E161-M1 E161-M2 2.932
i | 5.690 1 1 VU ¢ 100 5.690 1.473 7.163 5.690 2 1 |PRP ¢ 150mm 1| #AIXEL | 0.28 0.178 5.165 0.919
156 |[HE161-M2 B 156-M1 2.855
i | 5.460 1 1 VU ¢ 100 5.460 1.245 6.705 5.460 2 1 |PRP ¢ 150mm 1| ffIREL | 028 0.178 4935 0.878
7 E156-M1 E156-M2 2.627
154 |[E156-M2 B 154-M1 2.364
151 |E154-M1 E151-MT 2.250
B148 |E151-M1 B 148-M1 2.120
Z | 4.950 1 1 VU ¢ 100 4.950 0.575 5.525 4.950 2 1 PRP ¢ 150mm 1| ffRREL | 008 0.178 4525 0.805
" H148-M1 B 148-M2 1.957| & | 7.710 1 1 VU ¢ 100 7.710 0.575 8.285 7.710 2 1 PRP ¢ 150mm 1| #AIXEL | 0.08 0.178 7.285 1.297
B160 |E161-M2 B 160-M1 1.953
Z | 1.000 1 1 VU ¢ 100 1.000 0.222 1.222 1.000 1 1 PRP ¢ 150mm 1| #%ikBEx | 0.08 0.178 0.575 0.102
" B 160-M1 B160-M1+39.20| 1.604
BEH155 |H156-M2 B 156-M2+25.60| 2.280
146 |[HE148-M2 B 146-M1 1.844
Z | 5.080 2 2 VU ¢ 100 5.080 0.440 11.040 10.160 4 2 PRP ¢ 150mm 2 | fAIKBEL | 0.08 0.178 9.310 1.657
" B 146-M1 E146-M1+53.30| 1.822| & | 2.400 1 1 VU ¢ 100 2.400 0.440 2.840 2.400 1 1 PRP ¢ 150mm 1| fkikEx | 008 0.178 1.975 0.352
149 |[E151-M1 B 149-MT1 1.822
Z | 1.500 1 1 VU ¢ 100 1.500 0.366 1.866 1.500 1 1 PRP ¢ 150mm 1| #M%ickBEx | 0.08 0.178 1.075 0.191
7 E149-M1 E149-M1+69.40| 1.748
PRP ¢ 150mm
x ¢ 100 15 A7
BH
0.08 5.606
BH
0.13
BH
0.28 2.074
BH
0.45
i 15 15 57.83 49.83 21 12 3 i 7.680
PRP ¢ 150mm
X ¢ 100 15 A7
BH
0.08 5.606
BH
0.13
BH
0.28 2.074
BH
0.45
85t 15 15 57.83 49.83 21 12 3 i 7.680
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" it L A W,= W3 L= - 15cm<t W 10cm<t|15ecm<t ~ - ~ - - B &
e ! Wx1/2 Li=W,= W, t=15cm| =30cm[t=20cm ' [t=10em| £15¢m| £35¢m[t=<35cm 0.03 0.05 0.03 0.03 0.22 0.21 0.10 0.21 0.16 e i
T4l bt il m ~ m avil m m m/ 4 B m m m m m m m> m> m> m> m m m> m> m> m> m> m> m> m> m> m® m?®
135 |[BEEREE134-1-M2|5135-M1 0.85 HE(—#%)
0.08 | 1.44 3 0425 | 0440 0575| 1.725 0.05 3.45 0.600 10 0.03 0.22 1.0 1.0 0.05
1" B1135-M1 B135-M1+19.10| 0.08 0.85 s (— %) A| 228 2 0.425 1.855 | 3.710 0.05 7.42 0.600 2.2 0.03 0.22 2.2 2.2 0.11
0.28 | 208 1 0.525 1555 1.555 0.16 3.11 0.600 0.9 0.05 0.21 0.9
161 |BEERE163-1-M1|E161-M1 1.05 |  ThE0-28%)
7 E161-M1 BEH161-M2 1.05 | &0 -28R)
0.28 | 5.69 1 0525| 0560| 4.605| 4.605 0.16 9.21 0.600 2.8 0.05 0.21 28
156 |E161-M2 H156-MT1 1.05 | &0 -28%)
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